
Change on pin 6 and screw M5x40

44637TECHNICAL INFORMATION

 Subject

 For Models

 Description 1. A cap 11 will be added to the pin 6 (for shaft lock).

3612BR, 3612B, 3612BRA, 3600NB, 3600NBR (Router) and 9300 (Bench Grinder)

3612BR:    From 
3612BRA: From 
3600NB:    From
3600NBR: From 
9300 :        From 

 Implementati

2. For 3612BR, 
The screws M5x
        Current: Sc
        New : Scre

Note

When you attac

 Interchangea

C

Pi
25

Scr
911

Item No.

14

25

67
Current New

Pin 6

93003612BR, 3612B, 3612BRA
3600NB, 3600NBR

Cap 11 (added)Pin 6
serial No. 198766E  
serial No.     7130E
 serial No.   17379E  
serial No.     6653E
serial No.   35902E

on

3612B, 3612BRA, 3600NB and 3600NBR only 
40 which secure the motor bracket will be changed as follows.
rew M5x40 with spring washer
w M5x40 with spring washer and flat washer

h the cap 11 to the current type pin 6, always use adhesive (Three Bond 1521, etc.).

bility(I/C)

urrent part New part

Cap 11 
286235-9

I/CQ'ty Q'ty

Pin 6 
256606-4

n 6 
6606-4

Yes 11

Screw M5x40 
911263-2

For 3612BR, 3612B, 
3612BRA, 3600NB, 3600NBR

ew M5x40 
261-6

Yes 44

Note

1


